SSC SOLVED PAPER

HELID ON .
29.07.2012

GENERAL INTELLIGENCE
AND REASONING

Directions (1-8) & Ir the fal
lowing questions. select the related
word etters/mamber lrom Lhe give
en allemalives,

1.Bus: Road @ : Train : 2
(1) unclion  [2) Ratl
[3) trasl (%) Engine
2. Police : Constable : : Class < 7

{1} Teacher

(2) Student

() Monitor

(4} Principal

3, Bird ; Feather : : ?

(1) Tree : Leaves

(2) Lady : Dress

[3) Figh : Scales

(4) Skin ; Man

4. Spring : Rlasticity : ¢

[1) Pergon @ Whims

(4) Wool : Warmith

13) Markeling : Advernising

(4) Radiw : Bruadeasl

6. TIPS : ST :: GOD: ?

(1) ODG {2) GOOD

[3) DOGO {4) DOG
6.GFED :TSRQ : - KJIH : ?

(1) PQRS {2) HIJK

{3) Xwvi) (F) WXYZ
7.9:26::81:7

(1) 80 {2) 99

(3) 242 (1) 726
B.3:26::7:124

(1) i5 (2] 13

(3) 17 (4] 24
9.4:27::9:7

(112 (2] 64

{3) 32 (4) 18

Directions (10-18) : 21 the fol-

lowing questions, select the one

which is differvnt frum the other

three responses.
10. (1) Square metre
(2) Square [cot
{3) Squere inch
(4) Square root

SSC STENOGRAPHER GRADE

'C’' & ‘D' EXAM -

1L () Syuarce
13} Triangle 4) Rectanle
12. (1} Hard  Soft
12} Pointed  Blunt
(3] Sweel — Sour
{4) Long — High

{2} Cane

13. (14 L {2} QPO
13 WUs (A} ZYX
14. (1] ACEG 2] BODFH
(3] CEGI (4} DKM
15.(1) er? 2] nmlK
(4] giED (4] TSuv
16.(1)35,17 2] 48, 21
(31 56.25 4] 68,31
17. (1) 625 (2] 225
13 158 (4} 256
18. (1} 82, 2] 4b
(3} 28 (4) 44
Directions (18-20) : In the ol

lowing questions, which ane of the
ghven responses would be a mean
wglul ordes of the followisw words
in aseending order ?
19. 1. Collector
2. Governor
3. Chicl Scerutary
4. Preaident
5. Clerk
(1)1.2,.3.46
(2)5.1,.3.2.4
(350,35 4,2 ‘
4)5.1.4.3.2
20. 1. Wockly
3. Monthly
5. Bimonthly
(1)1.4325 (2)2.1435
(3)4.1235 [4)5.1234
21. Which one of the following
words will appear fourthiin the
English dictionary ?
(1} Encradle (2) Encourage
{3) Encroach (4] Encounter
22. Which one set of letters when
sequentially piaced ot the gaps

in the given letler sories shall

complete it ?
— Iy — BY — XX — TR — XY

2. Dally
4. Forinmghtly

|

(1) yaonyz 12} xyy
(3) vaxvx 14) xyzey
Dircctions (28-26) : [ e [ul-

lowing questions, choose the cor
recl adtermatve om the given ones
that will complote the series,

23. MES, LDR. KCQ, _7 . 1A0

1) KCO 12) REV

1) JCGQ {+) JOBFP
24, [KMO, TVXZ, 2. LMNO

(1) ABCD 12) CEGH

1) EGIK {4) GIKM
25.1. °  144,500.900.1764

11)25 12) 35

13) 49 {4100
26.Y 10,3068, _7

1) 125 12 140

) 128 (2 145
27. Fuud the wrong nawber m Lhe

given senes,

£.16.25,35.4961

1) 16 (219

319 gl

28. Fathima while introducing
Mustafn (o her husband saxd,
hist brother's Gecher sxo0he only
son of my grandiather. How is
Futhire reiated (0 Muslafa ¢
(1) Aunt (2) Sester
(3) Nicee 14) Mothesr

29. Tarun's sgu 18 the cube of 4
whale manber, [f was square
of another whole umber twu
years ago. [ow long he mest
winl hefore Tne ape s ugutn L
cube of 4 whole monber 2
(1) 2 yours {2) 10 yeurs
()37 veurs  (4) 39 yours

30. From the given alternatives,

selert the word which can he

lorsed usmig the letiors of Use
siver word.

MEASUREMEN!

(1) ASSUIE {2) MAN| 1

() MASTER (4 SUMMIT

From the given allesnulives,

aslert the word which cannot

be formied using the letters of
the diven woed,

31.




RATIONALE
(1) RATION 2} TRAIL
3) TONKR (4) RELATE
92. it In a certain code, DAUGH-
TER s written as TERDAUGH,
how will AFTITUDE be written
1 that code 7
(1] DEUAPTIT
(2) UDEAPTIT
(3] BUEAPITI
4] DAVEFTIT
33. If GERMANY s writlen as 7,
5. 18, 13, 1, 14, 25, how can
FRANCE be writien in thal
code ?
(116.18.1.1435
(2) 6.5, 18,14, 1.5
(M 8,2,145,13,86
(4)8.15,143,1.5

Directions (34-35) : ln the Rl
lowing questions, [ind the missing
number from the @iven responses,

34. 80 80 7
0 W 20
O 5 4

(1 30 (2) 40

{3) 140 {420
8. 7 9 10
v & 8 @
2 3 4
1 ? 15

1) 20 2124

(3) 28 191 32

34, Following equulions ure solved

on the basis of 3 cortain sys-
tem. On the sanwe basis, lind
out the correct answer for the
unsolved equation
B+5+43=358,347+6=873,
then4+7+6a?

{1]476 (2167

{3 764 (4) 746

37. Select the correct combination

of mathematical signs to re-

place * signs und 0 balance |

the given eguation,
15*5*3°25 .
N=+x 2}%x+ =
3]+ x = 4)x =+

a8. If A stands for "Additiom’, M for
‘Multplication’, D for 'Divi-
sion’, G for "Grester than' and
L for ‘Lesser than', then which
ol the following altcrnalives

. will be logically correct 7

(1) 18DUBASLAABLZ
(2) 18DSAGLEBAGM2
(3} 18AGM2L3M3A4
(4} 18D2A1GAM2AS
39. Vijet walxs 5 km (owardy
South, then he walks 3 km
turning to right. Again he
Garns ( his right wod wallis 5
km. Ile then tums o his lefi
and wulks G km. How far is he
now from the starting poml 7
(1) 5 km (2) 5 ki
(3 8km (4) 6 km
40. A sz stacts from a point ‘K
and walks 3 km southwards,
then he turms left and walks
& km. In which direction s he

from the stayting pomnt ¢
{1} South — \West

(2) South — East

{3) West

1) South

41 P's age s equal (o . R s
yvounger than 5. 7T is younger
than R but ¢lder thun I
Whicl: one is the oldest
P 2 9
13 R s

42.C 1% to the West of B aud
South West of A, D I= to the
North-West of A and North of
C and Is w line with A 0. Tn
whieh direction rom e pount
of A, Bis located ?

(1) North East
(2] South-[East
{3} North-West
{4) Sourh-Wesr
Directions (43-44) : In the fol

lowing questions, two starements
are given (ollowed by two-conclu

stons | and [1. You have 1o eomaider |

the sisteinents to be true even il
they seem to be a1 varianee from
commonly known fcts, You are to
decide which of the given cunclu-
stuns, il any, follow from the given

lmlcmmm:

43. Statements :
1. All players are doclors.,
2. Some doclurs ure actorns.
Conclusions :
1. Some doctors are players as
well as actars.
1. All actors are doclors.
(1) Only concluston | follows.
[2) Only eonclusion 1 follows,

13) Both conciusions | and 1l
followe,

{4) Neither conclusion | nor Il
follorws,

44. Statements : Classical music
18 divine. Talented people can
lenrn classical music easily,
Canclusions :

I. Those who leam classical

music become great.

II. Only talented people can

leamn classical musie.

(1] Omly concluston | follows,

(2] Only ronclnaton U follows,

(3] Both conclusions | and II
" follow,

(4] Neither conclusion | nor [

jollows.

48. Which one of the following
diagrams best depicts the re-
Laclonship among Elephants.
Wolves and Ansmals 7

-~

@t l)
l/—’-%\, '
4 WA NS
46, Which answer figure will cum-
plete the pattern in the ques-
thon figure 7
Question Figure :
L4
1% |l
- SR
~ Answer Figures :
: " l ~ N .6 ’\o
||
m @’ W

47, Select the answer figure in
which the guestion ligure is
hidden/emberdded.

Queation Figure :

X




I<|5K|FE|

n 2) 3] (4
48, A precs of paper 1s folded and
cut as shown below In the
question figures. From the giv-
en answer figures, Indicate
h" it will appear 'hm

opeed ?
Question Figures :

=1

2 AN

MW,

2

n [3) 7]

48. Which of the answer ligure 1=
exactly the mirror tmage of the
given figure, when the mirror
is held on the line AB ?

Question Figure :

AR

) () ) (4]

50. A word is represented by only
anc sct of numbers as given in

wny ane of the alternatives. The
altemmatives are represented by
two matrices given below. The
colurnns and rows of Matrix |
from 5 o 9. A letter from these
matrices can be represented
first by its row and next by ils
column, e, A “ﬂkm-
sented by 02, 14, 33, ete. und
K can be an by 57,
8u 88, etc. Identify the set for
the word SOAP.

5_
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leuuigm
| m| of x| =] ©

(1) 13,55.21,86
(2)01.56.21.67
(3) 32, 56, 20, 66
(4) 20.56.21.66

GENERAL AWARENESS

B1. The present monetary system
in India s managed by
(1) Nationalized Banks

(2) The State Bank of India
{3) The Central Minance Min-
istry
{4) The Reserve Bank of India
52. What is a Multinational Com-
pany ?
than two countries
(2) A company set up with for-
cign cupilal
{3) A company having opera
tons in many countries.
(4) A company holding a mo-
certain commodity tn sov-
eral countries,
B83. Explicit + Implicit Coxts =
(1) Private Costs
(2) Accounting Costs
(3) Economsic Costs
(4) Soctal Costs
84, Which of the following s not
relevant o Human Resource
Development ?
(1) Education
(2) Wornen and Child Develop-
ment
{4) Youth Affairs and Sports

85. A Trade Cycle consists of
(1} Three Phases
{2) Four Phases
(3] Five Phases
(4} Six Phascs
568. The Khilafai Movement was
(1) religious interference by the
British
{2) Russian Revolution
(3) dismemberment of Turkey
{4) suppression of Pathans
Planning Commission was es-
tablabed 1 the year
{1) 1980 (2) 1970
(3) 1960 4] 1960
58. India witnessed single part)
domination till
(1) 1952 2) 1967
13) 1971 4} 1977
59, Which part of the Constitution
the soul of the Constitution ?
(1) Fundamental Rights
[2) Directive Principles of State

57,

Policy
(3) Preamble
[4) Panchayats
60. Constituent Assembly adopt-
ed the Constitulion on
(1) L5th August 1947
(2) 26th November 1949
(3) 26th January 1950
(4) 30th Januury 1948
61. The rustless lron Pillar at Me-
hraull (Delhi) was erected by
the
(1) Mauryas  (2) Kushans
(3) Guptas
62. The famous ‘Guyatri Mantra'
has been taken from
() m w Samaveda
(3) Yajurveda
(4) Atharvaveda :
63. The Rajput King who was de-
feated by Babur in the battle
of Khanwa was
f1) Udat Singh:
(3) Rana Sanga
{4) Rudra Deva
B84. Who was the founder of the
Ramakrishna Mission ?
(1) Sr1 Ramakrishna
(2) Swami Shraddhananda




(3} Keshah Chandra
(4) Swaml Vivekananda
65. Who led the Muting at Kan
prr?
(1) Begum 1Hazrat Mahal
[2] Nana Sahib
{3) Tanba Tope
{4) Runi Laxamibat
66. Which 'Water By’ separates
Andaman and Nicobar Is-
lands ?
(1] Andaman Sea
(2) Bay of Benyal
(3) Ten Degree Channel
(4) Eleventh Degree Chuannc!
67.5tate Highways are main-
tained by
(1) ladividual Siates
(2) Central Government
(3) Central and State Govern-
ments jointly
(4) Private partiea selected by
the State Governmenls
68, The first port developed afler
Independence wis
(1) Nhava Sheva
(2) Kandla
{3} New Mangulure
(4} Mumoai
69. The neighbourning country of
Indis which has the smallest
arim is
(1) St Lanka
(2) Bangladesh
{3) Bhuts
{4) Nepal
70. Kiiranya Wiid Life Sanctu-
ary is in the State o ____
(1) Bihar (2) Tl Nadu
[4) Azsam (1) Kerala
71. Resin 18 extracted from
(1) Pupays 2] Pine
(3) Rubber 4] Banyan
72. Acumrmom plant found in trop
leal rainforest Is
1) Pine
[2) Kuealyptus
[$) Orchid %) Mr :
73. Which of the following vita
mins is necessary for clalting
of hlood ¥
1)K o
3 A “an
74. Influcrzs virus containg
(1) RNA only
(2) DNA oniy

!
|

|
|
|

l

(%) Both RNA and DNA i equal
proporiion.
(4] DNA with very small pro-
portion of RNA
76, Luny fish s & link between
(1) Asmphitda and Birds
(2) Repiles and Birds
{3) Amphibis and Reptiles
{4) Reptiles and Manunmls
76. Green gland is uu. exeretony
urgan of
(1) Earthworm (2] Cockroach
[3) Prawn (%) House-Ny
77, When pressure Is (nereased,
the builing potnt of water
[1) decreases s
(2) increases (.
{3} remains the same
{4) depends on the volume of
vapowr formied
78. In the treaument of skin dis-
case e radio 1sotope used is
(1) Radto phosphorous
(2) Radio iodue
(3) Radso lead
(4) Radiv cobult
79. Rainhow has : [Choose incor-
rect stalement)
1) red light as its oulcr most
colour towards sky
12) redd light 55 its tnner most
colour towards curth
[3) violet light as 112 Inner-
mast colonr towinds surth
{4) 15 curvature bent towards
carth.
BO. A cyclist in circular moliun
should lean
{1} Purward
) Backward
{3) Sideways towards the cen-
tre
(4) Sidueway away from the cen
tre

81. The monitor of a comnpuler i
(1] an input deviee
(2] un output devier
(3 & starage device
(1) a processing device

82. v ucollection of wires
through which data is trans
mitted from one past of & com-
puler o another part.
(1) Port (2) Channel
(3) Bus {4) Add on card

83. Amalgam is an alloy in which
the base metal i«
(1) Copper {2) Zine
(33 Musniniurn (4) Mercury
84.The physical method com-
only used 1o purdfy sez we
leris
(1} Evaporation
(2} Sedimentation
(3} Filtration
4} iattilation
85. The chenucal tame of 'oll of
vitriol" Is
(1] Phosphoric acid
12} Nitric acid
4] Sulphurie acid
{9) Hydrochloric acid
8. Calhode rays are
(1) Eleciromagnetic waves
2) Rudiations
(3) Strcam of a-particles
{4) Stream of electrons
87.The National Park Vallry of
Flowers® les in the State of
(1) Keraly
(2) Hunaschal Pradesh
13} Cllaraxhanad
(1) Jammu & Kushmir
88. Bhopal Gas Tragedy was
caused ny
(1) Nitrogen
(2) Oxypen
(3) Methyl isvcvanite
{4) Cvanude
89, The example of & sccondury
pollutant is
(1] CHC (Chioro huoro carbon)
12} FAN (Peroey acety] nitrate)
131 CH, (Methane)
(%) CL lChlnﬂmb
80, In Lig clties, alr pollution ux
mamly due to
(1) burning of fossil fuel
{2) thermal power plant
(3) sewage
{4) suspended purticies
981, The term ‘Lel’ ix associsted
wilh
{1) Bacminton (2) Chess
3 Hockey 14) Footlall
92.The orzl polio vaccine was
discovered by
(1) Alexander Flenuning
(2) Janas Salk
(3} Edawnd Fischer

(4] Juseph E. Murray




03. Who of the following Nobel
Laureates for then relentless
strupgic for peace, was award-
ed 2010 Nobel Prige ?

(1) Barack H. Obama
(2) Lin Xisobo

{3) Martti Ahtisaan
{4) Shirin Ebadt

84, The Umiom Hydel-Project dam
% Jocated & few kilometres
north of
(1) Guwahats 2] Shillong
(3) Kohima  |[4) Imphal

85. The expenses of the Govern-
ment of s are (he highest
o sccount of subsidy on
(1) Fertdzers (2) Cil
(3) LPG 14 Food

86. In accordance with the direc-
uons of RBI. banking facilities
are required to be provided al
all places having population of
more than 2000 by the end of
{1) March 2015
{2} March 2014
{3) March 2013
(4) March 2012

97. Bodoland Ternterial Council
(BTC), an autonomous self-
goverming body, was created
withun the State of

(1} Negaland (2] Meghalaya

[3) Assaun 14) Mizorai
98, ‘Sumlu Pucl' between India

and Pakisian was signed in the

year

(1) 19685 (2) 1971

() 1972 (4] 2001

99. In which of the Tollowing
Stales sre Guro and Khasi
tribes found 7
{1} Arunachal Pradesh
12) Nagaland
(3) Meghalaya
(4) Mizoram

100. Manipur has comman bound-
a?ea with the group of States
o
(1) Naggaland, Assurn und Mi-
ZOCRIN

(2) Nagalund, Meghalaye and

Tripura

K} Meghalaya, Mizoram and
Tripura

(4) Nagsland, Mizoram and
Meghalaya

ENGLISH LANGUAGE &
COMPREHENSION

Directions (101-110) : In the
lollowing questions, some parts of
the sentences have errors and some
have none. find out which part of
a sentence has an error. The num-
her of that part is the answer. Your
answer 13 (4) Le. No errur.
101.1am thinking (1}/ 1o wrile 2)/

my autobiography. (3)/No e

ror {4).

102. Your sari (1)/ is supenor (2)/
o ratne. (3)/ No error (4),
108. The Ganges has ovesflowed (1)/

its banks (2)/ and each of the

four villages are flooded. (3)/

No error (4),

104. What vou (1]/ do In the [2)/
evenings? (3)/ No error {4).

106. Last nmight (1} vou relurned
(2)/ lately, 13)/ No evor (4]

106. 1 feit sure (11/ he would die (2)/
and thal hie money would go to
his daugnrer. [3)/ No error (4).

107. Dresscys, skirts and children's
clothing (1)/ are advertised (2)/
&l great reduced prices, (3)/ No
error (9).

108. Vyuy, having finished his pa-
per. (117 he 12)/ left the exam
mation hall. ()7 No error [4).

108.Two and lwo {1)/ are equal Lo

12) four. (3)/ No creor (4,
110. She wonidered ( 1)/ how was e

going to manage (2)/ if he |

couldn't get a job. (3)/ No er

ror [4).

Directions (171-178) ¢ In Uy
following questions, sentences are
given with blanks (o be flled in with
appropnate wordls). Four altema-
tives are suggested for each ques-

tion. Choogse the correct alternative |

out of the four,
110 My father _____ hone last
woek,
1) left off (2) went back
[3) made out (4] came down |
112, lie assented my propos-
al,
(N (2) with
[3) above (4)of

e ——— e — — —— . — - -

113.1 ____ home before shie ar-

nved,

(1} bad Jeft (2] left

13} bave left  (4) has left
114, You will have your

mistakes,

1) pay to (2] pay for

(3 pay off (4] pay over
115, he thieves in a sto-

len jeep.

(1) made cut (2] made up
{3) made off  (4) made over
Directions (116-120) : In the

following guestions, oul of the fuur
alternatives. choose the one which

best expresses the meaning of the

given word.,
118, Flatler
(1) hate (2] praise
13) love (1) estimate
117, Fragile
(1) weak (2} durable
13) lasting (4) sturdy
118, Unique
(1) ordinary (2] comunon
(3) unusual (4) specsal
119, Inevitable
(1) optional (2] necessary
(4} conmitable (4) enviable
120. Bandage
(1) =lavery (2] fetters
13) chains

(4) imprisonment
Directions (121-125) : In the
following guestivns, choose the
word oppesite in mneaniog to the gv-
en waord.
121. Sterile
(1) lvely
13) plenty
122, Prominent
(1) prampt
(2) prolorg
(3) insignificant
(4] prove
123, Moy
(1) retonder
(2) lorgetiulneys
3] ignorance
{3) Incitiference
124, Relish
(1) tolerate
(3) disgust
1285, Industrious
1) Industrial [2) lazy
(3} scuaut {4) inelligent

- —

{2} fertile
(4) uselul

2] renuse
14) relent



Directions (126-130) : In the
following questions, four alterna-
tives are given for the idioms/ phras-
es. Choose the alternative which
‘best expresses the meaning of the
idhoms /phrases.

128. Like wildfire
© 1) here and there
[2) slowly
(3) rapidiy
. . 14) parually
127. A Herculean task
(1) A task whuch requires lit-
tie cffort
(2) A task which requires a Jot
of patience
(3A task which réquires
CNONTOUS Courasc
(4) A task which requires great
effort
' 128, To make light of
(1) to bring hght into life
(2) 1o treat as unimportant
{3) to make candles
(4] to ught a fire
129. To took into
(1) Lo cbserve
{2) to scarch
(3] to peep
(4] to Investigate
130, To egg on
(Ntourge (2} to advise
(8) to ask (4) to warn

Directions (131-136) : In the
following questions, the first and
the last parts of the sentences are

" numbered | and 6. The rest & split
nto four parts and named P, Q. R
“ and 5. Thesc four parts are not giv-
‘en in their proper order. Read the
"sentence and find out which of the
four combinattons is correct.
131, 1. The Leeds University

o

P. a number

Q. offers

R. to intermational

S. of scholurships

6. students

(HGRPS (2) RPSQ
13) QPSR (4] PQRS

“132. 1. Acadenmuciuns
P. who have been involved in
the debate
3. mecluding former Vice-
Chancellors

R. that the legislauon can
help providing & untform
character

S on a common university
law. thunk

6. to the univeraity bodics
such as senate syndicate

ete.
(1) RQPS (2) SrgP
(3) PSRQ 4) QPSR
133. 1. Thereis
P. as the g

Q. and love fur hnmanlly
R. no such thing
S. of brotherhood |
6. inthis world. |
(1) RPSQ (2) PRSQ
(3) QPRS (4) RSPQ
184, 1. The World Health Organi-
sation
P. the greatest villain
Q. has pointed out
R is
S. the wobacoo
6. in the history of human-
kind
(N GSRP 12) PQRS
(3) QPRS (4 RPSQ
186. 1. My friend's protest
P ounery
Q. turned oul 10 be
R, njustice
5. against
G in the wilderness
{1) PRQS (2) SRQP
(3) QRSP (4] RQSP
Directions (136-145) : In the
following questions, a sentence has
been given in Active Voter /Pasaive
Voice. Out of the four allernatives
sugiested, select the one which best
expresses the same sentence in Pas-
sive/Active Voice.
136. We should meet all our needs.
{1) Our needs should be met.
12) All our needs are to be met
by us.
(3) All our needs should be met
by us.
(4} All of us should meet our
needs.
137. The recently damuged roads
are being repaired by them.
(1) The repadred the recently
damaged rouds,

[2) They have repaired the re-
cently damaged rosds,

[3) They are repairing the re-
cently damaged roadds

[4) The recently damaged
roads were repaired by
them,

138. A method has been devised by
them to solve this problem.
[1) They have devised a meth-

od W solve that problem,
[2) They have devised a meth-
od to solve this problem.
13) They have soived the prob-
fem methodically.
[4) They have solved the prob-
lem by a method.
139, She cannot manage the situ-
atlon
[1] The situation cannot be
mmnaged by her

[2) The situation Is unman-
ageable for her

[3) Her situation cannot be

managed.

(3) Managing the situation 8

not possible by her.
140.The officer will convene a
meeting of his subordinates,

(1) His subordinates will be
convened for a meeling by
the officer.

(2) The officer will convene his
subordinates for s meeting,

(3) The olficer would convene
a meetng of his subordi-
nates.

(4) A meeting of his subordi-
nates will he convened by
the officer.

141.Our hosts (reated us very
kindly.

(1) We got kind treatment
from our hosts,

(2) We were treated very Xind-
Iy by our hosts.

(3) We were kindly treated by
hosts.

(4) Our treatment was kind.

142. Who painted the wall ?

(1) By whom had the wall
been painted ?

(2) By whom was the wall
padnted ?

{3) By whom s the wall been
painted ?

{4} By whom has the wall been
painted ?




143.The mintstry will have In-

structed the seceurity agencies.

[1) The sccurity agencies will

have been nstructed the
ministry.

(2) The sccurtty agencies wil)

have been tnstructed by the

auuntstry,

13) The insiructions were G-
en by the gunisty o the
securnly agencies.

14) The lustructions were tak-
en by the secullty agincies
from the minfstry,

144, He was given the detatls of hus
uncle’'s will by the lawyer.

(1] His uncle's will was given
o him by his laweyer.

(2} The lawyur gave him the
detatls of his uncle's will.

(3] Hix uncle’s will and its de-
tails were given by the faw-
yer.

(4) The detatls of the will was |

given by hus lawver.
148. Your Little boy Lruke my kitch

e window this mosning.

(D My kirchen window gnt

broke Ly your little boy.

12) This morming the kitehen

window was broke by your
itle Loy,
(3} My Little boy broke your
kitchen window this mnum-
Ing.

@) My k:itchen window was
broken by your little boy
s morzing.

Directions (146-1355) - In the
following questions. a part of the
aenrence 18 ponted In dbold. Below
are gven altemnatives to the bold part
at (1], 12) and (3) which may improve
the seatcnce. Choose the correct at-
lemative. In case oo improvement is
needed vour answer {s [4),

146, Strangely enough the candi-

dates restricted themssives

to saall ralltes and kept sway
from some rurul areas.

(1) the candiduges restricted
thuirselves

(2) the candidates were restrict-
ed to themselyves

(A the candidates have re
stricted thelrselves

(4) No improvernent

147.The man who will score the
maximum points, will carry
the trophy.,
(1! who scores the maxtmom
points
12) who the maximum powis
[OOres
{3) who would scope Lhie maxi-
munm points
(4) No improvemnent
148. Japanese armucs effort to de-
stroy the Allied forces at
Imphal and wtivade India, but
were drtven back into Burma. |
(1) attempted to destroy
(2) experimented to destroy
(3) strengthened to destruct
{4} No improvement
140. Indta is one of the niost wi-
brant democracies of the
world. |
(1) brighlest democracy '
2] vibrant demoeracy
{3) lively Gemocracies
{4) No hiuprovement
150. He stopped to work an hour
ago.
(1) worked
{2) to have worked
(3] working
(4) No improvement
LG1. My teacher is the kinder of all.
(1) kind
(2] kindly
(3) kindeet
(4) No tmprovement
162. The accident occurred in the |
centre of the raad
(1) meddle
12) patly
13) wiy
[4) No uuprovement
183. Hlardly bhad | reached the sta
Uon when the train stanted.
(1) then
(2] than
(3] since:
(4) No unprovement
1854, He s wilful 1o help you.
(1) willingly
[2) willing
{3) wilfully
4] Nu improvement
156, His tather died when L was

wery young,
(1] broke down

(2) passed awny

1M tock off

(4) No unprovement
Directions (156-165] : Tn the

! luliowing questiona, & senlince bas

been given i Direct /Indivect (i,
Out of the lour alternutives suggest-
ed, select the one which best ex-
presses the same sentence n Indi-
rect/Drrect furm,
156. The stranger saud, “Can vou
show me the way 7
[1) The stranger satd whether |
can show him the way,
{2) The stranger asked wheth-
er he could show me the

way.

(3) Thw: stranger asked wheth-
er [ could shuw him the
Wy,

{4) The stranger satd that |
cvould show him the way,

137.7Do the stafl have any prob-
len ” the manage: askod,

(1} The manager inguired
whether the stull have had
any prohlem.

[2)The manager inguired
whether the stafl have nad
had any prodlem.

{31 The mansger Inquired
whether the stafl had had
any problem

(4)'The manager inguired
whether the saff had any

prohlem.

168, She suid 1o him, *Who arc
you? Whe arc you looking
for ¢
(1) She asked R who he was

and who he wus looktng for
(2} She questioned him wha ke
was and who was he Jook-
g far.
[3) She asked him who was he
and who was he lookig for.
[3) Shic usked him who are you
anvi who are you lvoking for.
150. Shrcyas sald to his brother,
"Are you feeling better 7°
(1} Shreyas asked his brother
i e was feeling better.

{2) Shueyas ki his brother are
you feeling better.

(3) Shreyes told that he was
[eeling better

[4) Slucyas asked his brother
are vou feeliny better.




160. "Good Morning Father!” Raby
Korhamma would call omt
when sbe saw him.

(1) 2aby Kochamma would
call ot to Father in the
morning when she saw
him,

(2) Daby Kochamma would tell
um it was moming when

o She saw him,

{3) When Baby Kochununa
saw him. she would wish
the Father a g0od moming.

(4) Baby Kochamma would
call Father when she saw
him 'm the morning.

161."What a beautiful gitt!" my
friend =ald,

(1) My frend retorted that the

, Bl was beautilul.

(2) My fniend said that it is a
beautiful gin

. (B My friend explained that
© the gift was beautiul

(1) My friend exclaimed that
the gift was heautiful

1632, Are there no pricons 7 asked
Serooge.

(1) Scrooge Inguired about the

. atatus of prisons,

(2) Sérooge wanted to know If
there were no prisons.

(3) Scrooge asked if there were

0.

(4) Scrooge said if there were

. 1N pPrisons, -

1$3. He complimented that she

“w + had done very well,

« +{1) He said to her, “Alas | You
did very well”.

 {2) He said o her, “Very good,
shie has done very well.”

[ e said to her, “llow
should you do so well 77

[4) He said to her, “Very food,

" you have done very welll®

164. She aaid that she really Hked
the furniture.

(1) “She reslly liked this fur-
miture.” she said.

[2) “She had really liked this
furniture.” she sa:d
") really Hke this furni-

: ture,” she said.

(4} "1 hyave really liked Uus

furniture.” she said.

1 170. (1) full

|

185, The mother excialmed admur -
sngly that it was very clever of
ntm in have soived Lhe puzzie
%0 quickly
(1) You are a clever. That's

why you solved the puzzle
guickly.” said the mother.
(2} The mother said, “How
xicww you soived the pu-

(3)The mother satd, “You
solved the puzzle very
quickivt® .

(4) "How dever of you (o have
solved the puzzle so quick-
Iv 1", said the mother

Directions (166-186) : In the

following two passages some al the
words have been left oul. First read
the passages over and try w under-
stand what It i= about Then fill in
the hlanks with the help of the al-
termatives given, .
PASSAGE-1
(Question Nos. 166 to 176)

Man worked with hiz small
teols until the advent of medern
machinery (166] by sleam and
dectnicity. The amall tools (167)
defeat from the big machines, as
[LB8) hands had [169) Lo the hands
{17Q) with tools. These machines
operate cnly over langs (17 1) of land
und considerable (172) wre needed
lor thewr procurement and use. But
if therefore we: ive up all (173) say-
ng that our peasantry cannot (174)
them, (1 will simply mean (173)
trouble.
166, (1) driven

(2) movid

(3) worked

{4) controlled

167.(1) agrud

(2) acknowledged

(3] allowed

(4) peraitted

168. (1] iree (2] weak
(3] bare (4] strong
160. (1) succeeded [2) produced
(4) wiclded (4) creatcd

2] equipped
[3) covered
(4) paunted

|
i

|
|

171.(1) bits (2) picces

(3) tracts (1) divisions
172 (1) sums " {2} moneys

(3) funds (4) custs
173.(1) hope (2} expeciation

(3) intention  {4) ambiton
174. (1) manage  (2) afford

13) enabie {4) inspire
175.(1) asking 2) requining

() pleading  [4) Inviting

PASSAGE-II
(Guestion Nos. 176 to 185)

Elephants are (176] in India

and in Afnca, The {(177) elephant

differs i some points [(178] the
[ndian, being larger wills (179) tusk
and bigger ears. In fact, the two are
considered to be different (180). In
bolh countries, they live in (181)
i the jungles and arve naturally
(182] srumais that keep away from
(183). Elcphants are finc advertise-
ment for [184) for they lve (185)
on lcaves, grass und roots.
176, (1} avallable
(2} found
(3} watched
(4) vbserved
177.(1) African
(2) Korean
(3) Malaysian
(4) Chinese
178.(1) o
{3} from
179.(1) huger
{3) long
180.(1) varieties
(3] species
181.(1) groups
(3) crowds
182. (1) ferocious
(3] shy
183. (1) the world
(2] the water
(3} the cittes
{4) men
184. (1) spariitualism
{2} communism
(3) vegelanianism
(4) capitalivm
188. (1) entirely
(2) pasr Leally
13) preferably
(4] occasionally

2) by

(4) with
(2) wider

(4) longer
(2] Kinds
(4) types

(2) herds

(1) singles
{2) fearsome
4] terrible




— -

Directions (186-200] : You | Ambedkar was suspected 1o be an |

have two brief passoges with 5 to
10 questions following each pas-
sage. Read the passages curclully
and choose the best answer to each
question out of the four allemnsa-
tives,
PASSAGE-1
{Question Nos. 186 to 195)

o November 1918, he joined
Sydenham College as a prolcssor of
politicsl economics and worked
there for two years. With his Hitle
suvings, same help from the Maha-
raja of Kolhapur, and with a loan
of five thousand rupees from his
friend, Naval Bhatheny he left for
England tn 1820 to complete his
studies in Law and Beconornics, He
nsumed hix studice at the Loadon
School of Economics und kept his
lerms at Gray's Inatitute of Law. He
turned lus atlenlion to the London
Museum where the relics of the
saintly and scientific thoughts are
preserved, where the rulns of the
antique world are displayed and
where Kar! Marx, Mazzini, Lenin
and Savarkar had dug for knowledge
and digested it. In the Muscum, he
pourad uver books fram moming 1l
evening. Time was an important fac-
tor with ki, To save beth
and time, he would go without
lunch, After this, the second rouxd
of reading begins st his residence.

The endless reading would go on il |
early morning. He told his room- |

mate that fus poverty and wunt of
tine require him 1o linish his stud
ies as early as possible,

During these studies in London
[ur hia academic enurence, he had
not forgotten the real aim m his ifs,
He could not for a nanute forget the
dumb faces of he untouchables in
India. He took up this matter with
the Secretary, of State for India and
also held distussion with Mr. Vith-
albhai Patel In London. Neither he
could forget the alicn political real-
ilies of the nation. In a paper read
belore the Students Union and also
in his fumous thesis. “The Probiem
of the Rupees”, he exposcd the hal-
lowness of the British policies in
India, which caused & stir in the
academic world of London and

Indian Revolulionary.
186, Where did Dr. Ambedkar
teach ?
{1) London School of Econom-
les
(2) Sydenbam College
(3) London Museum
[4) Gray’s Institute of Law
187. Dr. Ambediar wus a teacher of
(1) Politscal Kconomice
2) Law
)] Literature
(4] Polifical Science
188. Who amongst the following
way Dr Ambedkar s benefac-
tor?
(1) Raga of Kathiawar
(2) Queen of Englan
(3) Raga of Kolhapur
(4) Lord Gray
188, Name Dr. Ambedkar's friend
who helped him to go to En-
gland,
[1) Nawal Kigshore
[2) Karl Marx
{3) Lenin
(4) Naval Bhathena
190. Why did Dr. Ambediar try 1o
firntwh his studies as sarly as
possible ?
(1) due to liness
(2] for lack of resvurces and
{tme
(3] due to adverse cltmate
(4} due tn noatalgia
191. What was Dr. Aabedkar's real
aim in life ? ;
(1) Upliftment of the downtrod-
den caxte
12} Upliitment of his family
(3) Academic eminence
[4) Successful career as a law-
ver
192.Whal was the core slogan
raised by Dr. Aunbedkar 7
(1) Scli-awarencss amongst
the oppresscd
{2) Open revalt
(3) Paptfication of the un-
twuchables

L

(4) Revolt of the oppressors
. 193, Where did Dr. Ambedkar spend
maost of his time in London ¢

{}) Courtrooms
(2) India Housc
{3) Royal Paluce
(4] London Museum

194. How many year(s] did Dr.
Ambedlicar work as a teacher in
India ?
(1) 1 year (2) 2 yoars
(S)Sycars  (4)4 years

195. What did Dr, Ambedkar expose
1n hus thesis 7
(1) Marginality of the rulers
2) Infallibality of the Brilish

Rule

(3) Unfversal laws of brother-
heod X
[4) Hollowrieas of the English
policies m India
~ PASSAGE-U
(Question Nos. 186 to 200}

Although speech 19 Lthe most
advanced form of communication,
there are many ways of communi-
caling withoul using speech. Sig-
valy, signs, symbols and gestures
may be found In cvery known cul-
ture. The bhasic funciion of « sigrfal’
Is o impinge upon the enviroament
In such a way thuel it attracts ar-
tention, as, for example, the dots
and dushcs of & relegraph circuit
Caded to refer to speech, the poten-
Hal tor comumunication ks very great,
Less adaptable to the codificaton
of words, sugns slso contain mean-
fng in and of themselves. A stop
#ign, far example, conveys meani'g®
quickly and conventently. Symbols
are more difficult o describe than
cither signals or signs because of
thew Intricale relationship with the
receiver'’s cultural perceptions, In
somne cultures, applavding in athe
atre provides porformers with an
audirory symbol of approval. Ges-
Lures such as waving and handshak-
ing also communicate certain e .
tural messages,

Although signals. signs, sym
bols wid gesturcs are very uselul,
they do have a myjor disadvantage.
They usually do not allow ideas to
be shared without the sender betng
directly adjacent to the receiver, As
a resull, mwans of communication
intended to be used fur long distane-

-



es and extended perods are based
upon speech. Radio, television and
the telephone are only a few of such
Neans.,
186. According to the passage,
what 5 signal ?
(1) A furm of communication
used across long distanc
o5

{2) The cultural pereeption of
COMmmMuUnNication,

{3) A type of communication
that mterrupts the envi-
ronment.

{4) A complicated form of com-
munication to describe.

197. Choose the vorrect slatement ¢

(1} Spcech s the most ad-
vanced form of comununi-
caltion.

i2) Speech 15 the real form of
communieaton.

{3) Specch is the busis for com-
munication to ocour,

{4) Speech Is dependent upon
the advances made by in
veniors,

198, Choose the most appropriate
title for the passage.

(1} Signs and signals.

(2) Gestural communication

{3) Speech variations

{4) Muans of communication

199. Why wrere the lelephone, ra-
dio and TV invented ?

{1)To provide new forms of
enlertainment.

12} 1t was believed that signs,
signals and symbols were
vbsolete.

{9) It was difficult 10 under-
stand symbols.

14) People wanted to commmu-
nicale across long distanc-
es.

200. This passage cxplains that __

(1) Symbols are the easfest to
witerprel.

(2) Signais, signs, symbols and
gestures are forms of com-
municalion,

13) Significance of waving and
handshaking is diffcrent i
dillerent cultures.

(4) Dufferent cultures have dif-
ferent signs and symbols,







